Volume and Surface Area of Cylinders

REVISE THIS
1SE T

1 Here is a cylinder with a radius of 4 cm and a height of 10 cm. @

10 cm

_____________
- ~

(a) Work out the volume of the cylinder.
Give your answer in terms of m.

TCXx4"x |0
- 7C X lb x (D

= 160Or (60T ..

(b) Work out the surface area of the cylinder.
Give your answer in terms of m.

IxTox4 + ©x¥%x10
IxTx o+ 0 x8x10
121 + %01

= () 20

X

v

21

(Total for Question 1 is 5 marks)
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2 Hereisacylinder.

30m

A
v

6/m

(a) Work out the volume of the cylinder.
Give your answer to 1 decimal place.

T X 6%x 30 = 3392410066

3%92-9..

(b) Work out the surface area of the cylinder.
Give your answer to 1 decimal place.

2XTx6%= 116 194% 614
TtxI2x30=\130-973F 3355

206\ .. 4+ \[30-9%F...= 135F 168026

\35+- 0 .

(Total for Question 2 is 5 marks)
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3 Hereisacylinder.

8cm

20cm

(a) Work out the volume of the cylinder.
Give your answer to 1 decimal place.

T
o
o
ol
)
O
o
G
£
O

TTX 4* x L0

(b) Work out the surface area of the cylinder.
Give your answer to 1 decimal place.

2x TUx ¥*= \0O - 52309 b4q
nx ¥x20=502 65498246

\0D- 53 ... + S072-6S...= 6071853 84S

0% 2L |

(Total for Question 3 is 5 marks)
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4 Hereis a cylinder.

9cm

——————
- ~~

(a) Work out the volume of the cylinder.
Give your answer to 4 significant figures.

TUx6-5" x9=1194.99060%

I -

(b) Work out the surface area of the cylinder.
Give your answer to 3 significant figures.

165 %6453 92

1 xTC X 6-5* =
= 3%6+-9663405S

TTx(3Ix 4

265-%6--+367-56..= 633-0209\4%

035

(Total for Question 4 is 5 marks)
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5 Here is a cylinder with a volume of 299 m?

hm

(a) Work out the value of h, the height of the cylinder.
Give your answer to 1 decimal place.

Tux4¥-S%= 6361315114
299 ~ 62-61... = ¥ 61993301l

!

(b) Work out the surface area of the cylinder.
Give your answer to 3 significant figures.

2x10 % % S=11F-23 ...
1O % Qq X. L(—:I‘ = \32%%

1273 03 .. +132-8%...=2 160 \0L..

16O

(Total for Question 5 is 5 marks)
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6 Here is a cylinder with a volume of 299 m?

m

hcm

_____________
""""""
- ~.
- ~
e N,

(a) Work out the value of h, the height of the cylinder.
Give your answer to 1 decimal place.

TUx4-35= 69 341N
$36+62.3..= §1299%3F 11y

33

(b) Work out the surface area o.f _the cy!inder.
Give your answer to 4 significant figures.
Lxmx 435 = 13%-39 ..
x99 x83 = 145-10...
12%-39...+ L45-10..23%371.90...
% g & . q cm?

(Total for Question 6 is 5 marks)
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7 Here are two cylinders.
Cylinder B

Cylinder A 18 cm
«—

—>

- 21 cm
13 cm

Cylinder A is placed on top of cylinder B to form a new cylinder.

N\
T {1 21 +13
= G wn

Work out the surface area of the new cylinder.
Give your answer to 4 significant figures.

2xx 9t = 50992 %0099
Tx \8x3% = (411 bSYF0OY%

S0%-9.. + 1911 -6..= L&k3154..

2450 ..

(Total for Question 7 is 3 marks)
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8 Here isa cylinder with a height of 2.4 cm

_______________
_________
- ~.
- ~,
- ~.
e N,

2.4cm

The ratio of the radius of the cylinder to the height of the cylinderis 2 : 3

(a) Work out the volume of the cylinder.

Give your answer to 1 decimal place. 2 qr —- 1 - O . 8
0-8x2:=16

Tx 6" x2k= (20194526
19-3

(b) Work out the surface area of the cylinder.
Give your answer to 3 significant figures.

Lx 10 x 6= |b-08 495429
mx 32 x4 = 24 123%315 8

1608 + 1412 = 40- 212139593

0- 0L

(Total for Question 8 is 6 marks)

cm?
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9 Here are two cylinders with the same volume.

5cm

12 cm
hcm

Work out the value of h, the height of the second cylinder.
Give your answer to 2 decimal places.

TTx15%x12= 235619449
Tx 7= S0 26543146

23561...+50-26..= 46815

469

(Total for Question 9 is 4 marks)
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10 Here is a cylinder with a volume of 266 cm3

4.8cm

_________
- ~.
- ~,

(a) Work out the value of r, the radius of the cylinder.
Give your answer to 1 decimal place.

MTxrtx4-9=266
r*= 266+~ 4-%rx
r*= |3-6396232%¢

cm

(b) Work out the surface area of the cylinder.
Give your answer to 4 significant figures.

LxTx4 1= 110-%¥3...
TxLYx48=126-66...

110-8Y...+1L6-66-..=72%}-50..

2335

(Total for Question 10 is 6 marks)
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